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	Variable
	Storage type (all double precision)
	Variable  yes no
	Variable
label

	Hhincomeequiv
	%12.0g
	Total equivalised and deflated HH annual income/100
	Numeric value

	partner_yes
	%12.0g
	Living with partner
	0=’no’
1=’yes’

	Age
	%12.0g
	Age
	Numeric value

	age_20_24
	%12.0g
	Age between 20 and 24
	0=’no’
1=’yes’

	age_25_49
	%12.0g
	Age between 25 and 49
	0=’no’
1=’yes’

	age_50_64
	%12.0g
	Age between 50 and 64
	0=’no’
1=’yes’

	age_65plus
	%12.0g
	Age 65 and older
	0=’no’
1=’yes’

	Nckids
	%12.0g
	Number of children in household
	Numeric value

	Mover
	%12.0g
	Moved residence within UK
	0=’no’
1=’yes’

	gp_visits_l12months_yes
	%12.0g
	GP visit during last 12 months
	0=’no’
1=’yes’

	healthstatus_good
	%12.0g
	Health status good
	0=’no’
1=’yes’

	Healthstatus_fair
	%12.0g
	Health status fair
	0=’no’
1=’yes’

	healthstatus_poor
	%12.0g
	Health status poor
	0=’no’
1=’yes’

	Healthstatus_verypoor
	%12.0g
	Health status very poor
	0=’no’
1=’yes’

	Smoking
	%12.0g
	Status smoking
	0=’no’
1=’yes’

	cervical_cancer
	%12.0g
	Cervical cancer health check-up in period t
	0=’no’
1=’yes’

	isced_secondary
	%12.0g
	Secondary education (ISCED)
	0=’no’
1=’yes’

	isced_tertiary
	%12.0g
	Tertiary education (ISCED)
	0=’no’
1=’yes’

	Employed
	%12.0g
	Employed part-time or full-time
	0=’no’
1=’yes’

	race_nonwhite
	%12.0g
	Ethnic non-white
	0=’no’
1=’yes’

	region_scotland
	%12.0g
	Region Scotland
	0=’no’
1=’yes’

	region_wales
	%12.0g
	Region Wales
	0=’no’
1=’yes’

	yeafter2003age25_49_cervical
	%12.0g
	Cervical screening policy change: year after 2003 and
	0=’no’
1=’yes’

	lag1cervicalcancer
	%10.0g
	Cervical cancer screening in t-1
	0=’no’
1=’yes’

	lag2cervicalcancer
	%10.0g
	Cervical cancer screening in t-2
	0=’no’
1=’yes’

	lag3cervicalcancer
	%10.0g
	Cervical cancer screening in t-3
	0=’no’
1=’yes’



